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1. Identify the location of oxidation in an electrochemical cell. (5 pts)

a) the anode

b) the cathode

c) the electrode

d) the salt bridge

2. Write the balanced redox reaction represented by the following cell notation. (8 pts)


Mg(s) | Mg2+(aq) || Cu2+(aq) | Cu(s)

3. Use the standard half-cell potentials listed below to calculate the standard cell potential for the following reaction occurring in an electrochemical cell at 25°C.  (The equation is balanced.) (5 pts)


3 Cl2(g) + 2 Fe(s) → 6 Cl− (aq) + 2  Fe3+(aq)

Cl2(g) + 2 e− → 2 Cl− (aq) 

E° = +1.36 V

Fe3+(aq) + 3 e−  →  Fe(s)    
E° = -0.04 V
4. How many electrons are transferred in the following reaction? (The reaction is unbalanced.) (5 pts)

Mg(s) + Al3+(aq) → Al(s) + Mg2+(aq)

5. Consider the reaction : A + 2B( C

The rate at 25oC  was measured using three different sets of initial concentrations as listed in the following table:

	Trial
	[A]
	[B]
	Rate

(M/s)

	1
	0.25
	0.050
	3.8×10−3

	2
	0.25
	0.100
	7.5×10−3

	3
	0.50
	0.050
	1.5×10−2


a) Determine the rate law for the reaction.  Explain or show your method.  (6 pts)






Answer:  __________________________________
b) Calculate the value of the rate constant.  You only need to calculate it once.  Be sure you have proper units and the correct number of significant figures. (4 pts)







Answer:    k = __________________________
6.  Consider the reaction:
5 Br​–(aq)  +  BrO3–(aq)  + 6 H+(aq)  (  3 Br2(aq)  +  3 H2O(l)


If the initial rate of consumption of bromide ion is 1.66 x 10-4M/s, what is the intial rate of consumption of hydronium ion?  Clearly show your method.  (7 pts)







Answer:  __________________________________
